	«4»
	«3»
	«2»

	1х0,64=0,64
	1х0,36=0,36
	1х0,14=0,14

	2х0,64=1,28
	2х0,36=0,72
	2х0,14=0,28

	3х0,64=1,92
	3х0,36=1,08
	3х0,14=0,42

	4х0,64=2,56
	4х0,36=1,44
	4х0,14=0,56

	5х0,64=3,2
	5х0,36=1,8
	5х0,14=0,7

	6х0,64=3,84
	6х0,36=2,16
	6х0,14=0,84

	7х0,64=4,48
	7х0,36=2,52
	7х0,14=0,98

	8х0,64=5,12
	8х0,36=2,88
	8х0,14=1,12

	9х0,64=5,76
	9х0,36=3,24
	9х0,14=1,26

	10х0,64=6,4
	10х0,36= 3,6
	10х0,14=1,4

	11х0,64=7,04
	11х0,36=3,96
	11х0,14=1,54

	12х0,64=7,68
	12х0,36=4,32
	12х0,14=1,68

	13х0,64=8,32
	13х0,36=4,68
	13х0,14=1,82

	14х0,64=8,96
	14х0,36=5,04
	14х0,14=1,96

	15х0,64=9,6
	15х0,36=5,4
	15х0,14=2,1

	СОУ=
количество "5"х1
+количество"4х0.64( см.готовый результат в  таблице)
+количество"3"х0,36( см.готовый результат в  таблице)
+количество" 2"х0,14( см.готовый результат в  таблице)
разделить на количество учеников и умножить на 100%.





